BAPUAHT KPEMMIEHWUA / FASTENING OPTION :7

C commesmeson INFOPARKING

LUAViBA M8 / M8 WASHER
Uronok METANIMUECKWA / METALL CORNER
LLIAiBA M8 / M8 WASHER
PE3VIHOBAR MPOKTNIAAKA / RUBBER GASKET

CeeToamoaHoe Tabno nHaAMKaLuMm
NHPOTAB REVERS MATRIX 320 P8

Led Board of indication
INFOTAB REVERS MATRIX 320 P8

BKITIOYEHWNE CTPENKN
TO INCLUDE AN ARROW

.  sxnouene koccra NHCTpyKLUMA nonb3osaTena
o USER MANUAL
sessenves Kentbin
3enéHbIn rELLOW
GREEN KOPUYHEBBbI = B H H :
BROWN__| ek DuTaHNR CeeToamoaHoe T3610 MHAMKIUMN The LED board of indication Infotab
T T Foster supply HdpoTab REVERS MATRIX npeaHasHadeHo  REVERS MATRIX is intended for display of
gl iy o WHITE 5V ANA 0TOBPAXEHNSA UHDOPMAaLINM. special information.

[aHHasa Moandrkaumsa nmeeT kpacHold 11 This modification has red and green color

KOMMANEKT NMNOCTABKU / PACKAGE 3eNéHbIN UBeT ceeyeHua. of a luminescence.

Ta6110 MHAnKau MHOOTAB REVERS MATRIX 320 P8 L ur/ Loiece YcTponcTeo oTobpaxaeT 48B3 The device displays two images:
Board of indication INFOTAB REVERS MATRIX 320 P8 /P 1306paxeHmn: - red cross
bnok nuTanwa 5B / Power supply 5V 1 wr. / 1piece - KDaFHb'M Kpect - green arrow
y - - 3enéHyto CTpenky
MeTannuuecknin yronok / Metal Corner 2 wT. / 2 pieces M . s .
5 epekJitoyeHre NPonNCXoanT NYTEM Switching happens by connection of the
KomnnexT kpenexa (60T, wali6a, pesvHoBan NpokNaaka) 2 komnn. / 2 sets COeAVHEHMA COOTBETCTBYIWero Nnposoga  corresponding  wire to  power supply
Fixture set (bolt, washer, rubber laying)
K MMHUCYU UCTOYHMKA MNUTAHNSA. ground.
NHCcTpykums nonb3osatens / User Manual 1 wr. / 1piece
MUTAHUE TABJ1O - 5 BOALT NOCTOAHHOIO TOKa POWER SUPPLY - 5 volts of a direct current
TEXHUYECKAA NOAAEPXKKA / TECHNICAL SUPPORT
MonyunTb AONOAHUTENbHYUK MHDOPMAaLMIO Bbl Technical support:
MoxeTe: - by phone: 8 (812) 981-07-63 RUSSIA
- no TenedoHy: 8 (812) 981-07-63 - by e-mail: help@infoparking.ru SAINT-PETERSBURG

- N0 3nekTpoHHoM noyTte: help@infoparking.ru



BAPUAHT KPEMMIEHWUA / FASTENING OPTION :7

C commesmeson INFOPARKING

LUAViBA M8 / M8 WASHER
Uronok METANIMUECKWA / METALL CORNER
LLIAiBA M8 / M8 WASHER
PE3VIHOBAR MPOKTNIAAKA / RUBBER GASKET

CeeToamoaHoe Tabno nHaAMKaLuMm
NHPOTAB REVERS MATRIX 320 P8

Led Board of indication
INFOTAB REVERS MATRIX 320 P8

BKITIOYEHWNE CTPENKN
TO INCLUDE AN ARROW

.  sxnouene koccra NHCTpyKLUMA nonb3osaTena
o USER MANUAL
sessenves Kentbin
3enéHbIn rELLOW
GREEN KOPUYHEBBbI = B H H :
BROWN__| ek DuTaHNR CeeToamoaHoe T3610 MHAMKIUMN The LED board of indication Infotab
T T Foster supply HdpoTab REVERS MATRIX npeaHasHadeHo  REVERS MATRIX is intended for display of
gl iy o WHITE 5V ANA 0TOBPAXEHNSA UHDOPMAaLINM. special information.

[aHHasa Moandrkaumsa nmeeT kpacHold 11 This modification has red and green color

KOMMANEKT NMNOCTABKU / PACKAGE 3eNéHbIN UBeT ceeyeHua. of a luminescence.

Ta6110 MHAnKau MHOOTAB REVERS MATRIX 320 P8 L ur/ Loiece YcTponcTeo oTobpaxaeT 48B3 The device displays two images:
Board of indication INFOTAB REVERS MATRIX 320 P8 /P 1306paxeHmn: - red cross
bnok nuTanwa 5B / Power supply 5V 1 wr. / 1piece - KDaFHb'M Kpect - green arrow
y - - 3enéHyto CTpenky
MeTannuuecknin yronok / Metal Corner 2 wT. / 2 pieces M . s .
5 epekJitoyeHre NPonNCXoanT NYTEM Switching happens by connection of the
KomnnexT kpenexa (60T, wali6a, pesvHoBan NpokNaaka) 2 komnn. / 2 sets COeAVHEHMA COOTBETCTBYIWero Nnposoga  corresponding  wire to  power supply
Fixture set (bolt, washer, rubber laying)
K MMHUCYU UCTOYHMKA MNUTAHNSA. ground.
NHCcTpykums nonb3osatens / User Manual 1 wr. / 1piece
MUTAHUE TABJ1O - 5 BOALT NOCTOAHHOIO TOKa POWER SUPPLY - 5 volts of a direct current
TEXHUYECKAA NOAAEPXKKA / TECHNICAL SUPPORT
MonyunTb AONOAHUTENbHUK MH(DOPMAaLMIO Bbl Technical support:
MoxeTe: - by phone: 8 (812) 981-07-63 RUSSIA
- no TenedoHy: 8 (812) 981-07-63 - by e-mail: help@infoparking.ru SAINT-PETERSBURG

- N0 3nekTpoHHoM noyTte: help@infoparking.ru



